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from 6 to be is a bijection
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different numbersof nodes
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nodes ofdeg5
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how totraverse a graph

walk finite sequence of nodes from
a to b

describe bynodes or edges

length is edges you traverse

closed a b are samenode go back beginning

open a b

path no node is repeated

cycle
closed walk in which no other model are used

more than one start end node are same

Euler circuit closed
walk that uses each edge in

graph exactly
once nothing about

nodes
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a graph is
connected if there is a walk between

every pair of nodes

w̅
not connected

2 tonnected components

distance between
2 nodes is the lengthof shortest path

between them

diameter of graph
is largest of all

distances between

pairs of nodes

look at the textbook for
discussion of bipartite

graphs


